
𝑥ଶ − 9
(   +    )(    −   )

(𝑥 +    )(𝑥 −   )

(𝑥 + 3)(𝑥 − 3)

4𝑥ଶ − 49
(2𝑥)ଶ − 7ଶ

(2𝑥 + 7)(2𝑥 − 7)

(2𝑥 + 7)(2𝑥 − 7)
4𝑥ଶ − 14𝑥 + 14𝑥 − 49

4𝑥ଶ − 49

9𝑥ଶ − 𝑦ଶ

(3𝑥)ଶ − 𝑦ଶ

(3𝑥 + 𝑦)(3𝑥 − 𝑦)

(3𝑥 + 𝑦)(3𝑥 − 𝑦)
9𝑥ଶ − 3𝑥𝑦 + 3𝑥𝑦 − 𝑦ଶ

9𝑥ଶ − 𝑦ଶ

−𝑥ଶ + 49
49 − 𝑥ଶ

(7 + 𝑥)(7 − 𝑥)

(7 + 𝑥)(7 − 𝑥)
49 − 7𝑥 + 7𝑥 − 𝑥ଶ

49 − 𝑥ଶ

Rearrange

Factor

FOIL

𝑥ଶ + 4

𝑥ସ − 81
(𝑥ଶ − 9)(𝑥ଶ + 9)

(𝑥 + 3)(𝑥 − 3)(𝑥ଶ + 9)

𝑥ସ − 1
(𝑥ଶ − 1)(𝑥ଶ + 1)

(𝑥 + 1)(𝑥 − 1)(𝑥ଶ + 1)

(𝑥 + 3)(𝑥 − 3)

𝑥ଶ − 3𝑥 + 3𝑥 − 9

𝑥ଶ − 9

Differences of Squares: A Subtraction Sign in Between two Squared Things

Step 1 Set Up Two Sets of Brackets with a +(Plus) and a − (Minus) Sign.

Step 2 What squared is 𝑥ଶ? 𝑥. That answer goes first in each set of brackets.

Step 3 What squared is 9? 3. That number goes second in each set of brackets.

FOIL
In your Head

4𝑥ଶ − 36
4(𝑥ଶ − 9)

4(𝑥 + 3)(𝑥 − 3)

4(𝑥 + 3)(𝑥 − 3)
4(𝑥ଶ − 3𝑥 + 3𝑥 − 9)
4(𝑥ଶ − 9)

4𝑥ଶ − 36

𝐺𝐶𝐹

Factor

FOIL

4𝑥ଶ = (2𝑥)ଶ

Figure Out what is being Squared
Change of base
Do this in your Head
Factor

FOIL

9𝑥ଶ = (3𝑥)ଶ

Factor

FOIL

    49 − 𝑥ଶ

−(−49 + 𝑥ଶ)
−(𝑥ଶ − 49)

−(𝑥 − 7)(𝑥 + 7)

−(𝑥ଶ + 7𝑥 − 7𝑥 − 49)
−(𝑥ଶ − 49)
−𝑥ଶ + 49

49 − 𝑥ଶ

GCF= −1
Rearrange

Factor

FOIL

Cannot Factor

Cannot Factor a Sum of Squares

𝑥ସ = 𝑥ଶ × 𝑥ଶ

Factor Twice

𝑎ସ − 𝑏ସ

(𝑎ଶ + 𝑏ଶ)(𝑎ଶ − 𝑏ଶ)
(𝑎ଶ + 𝑏ଶ)(𝑎 + 𝑏)(𝑎 − 𝑏)

(1 − 𝑥ଵ଴)

(1 − 𝑥ହ)(1 + 𝑥ହ)
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